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PART -I
I. Choose the correct answer: 14x1=14
1) If Bc Athen n(AnB)is
a) n(A-B) b) n(B) : c) n(B-A) d) n(A)
2) If AUB= AnB then _
a) A=B b) A=B C) AcB d)BcA
3) If /g0 = ky/5.,thenk =?
a)2 b) 4 c) 8 d) 16
. . 23 .
4) When written with a rational denominator, the expression E can be simplified as
V2 ' V3 (] 2
a) 5 b) — c) T d) 3
5) If x°1+51 is divided by x + 1, then the remainder is
a)o b)1 c) 49 d) 50
6) If (x-3) is a factor of P(x), then the remainder is
a)3 b) -3 c) P(3) d) P(-3)
7) The interior angle made by the side in a parailelogram is 90° then the
Parallelogram is a ’ ‘
e  3)rhombus b) rectangle c) trapezium d) Kite
8) The angles of the rectanige are (3x - 40)°, (x + 20)° and (2x —10)° then the value of x is
Vayaoe b) 35° c) 50 d) 450
9) The distance between the two points (2, 3) and (1, 4) is
a)2 b) 56 : <) J1io ‘ d) 2
10) If (x + 2, 4) = (5, y - 2), then the co-ordinate (X, y) are ........
a) (7, 12) b) (6, 3) c) (3, 6) ' d) (2, 1)
11) If tan 8 = cot 37° then the value of 9 is : '
a) 37° b) 53° c) 90° d) 1°
12) If the lateral surface area of @ cube is 600cm?, then the total surface area is
a) 150 cm? b) 400 cm? c) 900 cm? d) 1350 cm?
13) A Particular observation which occurs maximum number of times in a given
data is called its ) ,
a) frequency b) range C) mode d) median
14) The probability of all possible outcomes of a random experiment is always
equal to
a) One b) Zero c) Infinity d) Less than one
: PART -I1
II. Answer any 10 questions. (Q.No. 28 is compulsory): 10x2=20

15) IfA = {6, 7, 8, 9} and B = {8, 10, 12} , Find AAB
16) IfP = {1, 2,5, 7,9}, Q =2,3,5,9, 11} and R = {3, 4, 5, 7, 9} then find

(PUQ)UR
17) Simplify: /63 — 175 + /28
18) Show that (x + 2) is a factor of x> - 4x? - 2x + 20 ‘
19) The angles of a quadrilateral are in the ratio 2 : 4 : 5: 7. Find all the angles
20) Find the centroid of the triangle whose vertices are (2,-4), (-3,-7)and (7, 2)
3
21) Find the value of tan260° - 2 tan245° - Cot?30° + 2sin®30° + Icosec245°

22) Find the total surface area and lateral surface area of the cube, whose side is 5cm
23) In a distribution, the mean and mode are 66 and 60 respectively, calculate

the median
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24) The probability that it will rain tomorrow is 100/ what is the probability that

it will not rain tomorrow? B
25) Express the decimal expression into rational number > 37

26) Find the length of a chord which is at a distance of 211 ¢cm find the centre

of a circle of radius 12cm N
27) Inwhat rabo does the point P(-2, 5) divide the line segment joining A(-3,5)and (4, -9)
~ 28) Factorise: 3a2-24ab+ 48b?

PART - III

IIL Answer any 10 questions. (Q.No. 34 is compulsory): 10x5=50

29) Verify A- (B C)=(A-B)~(A-C)using venn diagrams

30) In a class, all students take part in either music or drama or both. 25
students take part in music, 30 students take part in drama and 8 students
take part in both music and drama. Find
(i) The number of students who take part in only music

it The number of students who take part in drama
The total number of students in the class

Represent ¢ 2 on a number line
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= a\E +b
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t

Find the value of a and b if :

+

19

\

R 1 1
33) If X ’%= 3 thenﬁndthevalueofX+—andX '“_‘

34) And quot:ent and the remainder when f(x) is davnded by a(x)
fix) = 8x°-6x2 +15x-7, g(x) = 2x+1

35) IfFPQRS is a cyclic quadrilateral in which < PSR = 70°
and <QPR = 4(0°, then find <PRQ

36) Show that the following points taken in order form an isosceles triangle. A(6, -4),
B(-2,-4),C(2, 10).

37) What are the co-ordinates of B if point P(-2, 3) and divides the line segment
joining A(-3, 5) and B internally ir the ratio 1 : 6?

-~

38) If tanA = %, then find all the other trigonometric ratios:

39) Find the value of the following
s T snm® ) ate CIS(‘;UO 6)tandse(AF - 6)

. N 50
) ot mme 2 ) o) S (@ —)osed P o)

40) A lzndisin the shape of rhombus. The Perimeter of the land is 160m and one
of tne diagonalis 48m. Find the area of the land _

41) Tne median of the following data is 24. Find the value of x

Cias;lnternal(CI) 0-10 10 20 20- 30 30- 40 40 50‘

Frequency (f) 6 24 x | 16 9
42) Tnere are 44 balls in a pot If 3 of them are Red 5 of them are Blue and the
remaining are green then, what is the probability of picking out i) a Blue ball

i) a Red ball and iii) a Green ball? S VAW MAR M .
S BarnMATr»E h=
PART ~IV L2 > %0 9
IV. Do both the questions: \JO\LU"" 2x8=16

43) Construct the incentre of AABC with AB = 6cm, /B - 45° and AC=7cm. Also
" graw the incircle and measure its radius

, (OR)

Censtruct AABC with AB = 5cm, B - (° and BC = 6cm Also locate its

circumcentre draw circumcircle

44) Use graphical method to solve the following systern of equations. x +y =5, 2x -y=4
(OR)

Draw the graph of y = 2x
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